mean # PXL hits vs eta

4
31
2F

.....................................................................

=
T T T 19T T T T
»

Y ‘Liadad Al v e v e bdadd
; » ; dhbddy

=2

1

0

1

2

3

| mean # PXL Layers with measurement vs eta

3

2

3.5 ot e i

P O Y SN S S—

TS S TN T R S
e
LSF

| S S T -
T e

FRVA)

0.95

mean # STRIP hits V|

—=— Orig/DQM_orig_MS
—e— pixelLessOrig/DQM_mod_MS

I

12

—— pixelLess/DQM_mod_MS

.......................................................

Y0 R S SR S N

1.

[
LN NI L L

0.95

-3

=)

1

0

1

2

3

= N W b 1 O N 00 ©

&

=
TT T T[T T 1T

0.95

S—

ke —

1

0

1

2

3



	Contents
	Page 1


